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By Shubham Sir

1. 99 B P TS PIIWH A JTSTSTEAIE 91 When the glass is rubbed with the silk of

@3-

A. FBUTARIT 81 It g |

B. YTAfRId 8l STl & |

C. e T

D. Ugd HBUMARG gl § fhr &-TafRId gl 5|

the rod, the rod -

A.

B.
C.
D.

They become negatively charged.

They become richly charged.

They remain indifferent.

First they are negatively charged and then
they are positively charged |
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By Shubham Sir

The total charge of a charged conductor is

A.
B.
C.

Lives on the inner surface.

Lives on external page

Some live on the inner page and some on
the outer page

All are true




3. S IR AT BIAT & -
A, YTHSD
B. “BUIIHD
C. 3AveH
D. TH=TTH®

By Shubham Sir

The charge on the neutron is:
A. Positive

B. Indebtedness

C. Chargeless
D

Variations




By Shubham Sir

4. 33333 3qged H YRT BT YATE fPdPD PRUT  What causes the flow of current in an

A EIaTe ?

A.

B
C.
D

o Sae
Bl

ST

S

electrolyte?

A.

B
C.
D

free electricity
Holes
movement

Neutron




5. faggdia Ta YaETt @ gl 8-

A
B

C.
D

. Y19 9 = Bl BUMGR WR
BUMART Y YR BlhR YA IR
RIIEDIPK

S0 I BIg ol

By Shubham Sir

The electric lines of force end in:

A.

Starting with positive charge to negative
charge

Starting from negative charge to positive
charge

uncontrolled

None of these




@ By Shubham Sir

6. frdlt Wivad ara® & 3R ﬁﬂ'ﬂ?ﬂ'ﬂ &F  The electric field intensity inside a hollow

&I digdT ......... E.Fﬁ %I conductor is .........
A. E’ﬁé A. unit

B. A B. zero

C. HHIH C. equal

D. 3{HHMH D. unequal




7. P A & oy ¥ fF=faRad &1 gafea
PIfore -

At - | al- 1|

ABU SAGCIS 1. P DI B8

B.YH Zaiagle 2. S &1 9
CIAaCEe 3. AT RIRISS B UK
D.faga 4. HTHIST SIE3eES

%c - AB.CD.

A4312 B.1243

C.2134 D.1234

By Shubham Sir

Match the following with respect to dry
cell:

List-11

1. Carbon Rods

list - |
A. Loan Electrode
B. Money Electrode 2. Zinc pot

C. Electrocyte 3. Ammonium chloride

paste
D. depolar 4. Manganese dioxide
Codes :- A.B.C.D.
A.4312 B.1243
C.2134 D.1234




By Shubham Sir

8. TP PR dedl | Ugdd ﬁ@'ﬂﬁ YUY §ldT  The electrolyte used in a car battery is:
- A. Hydrochloric acid

A. TIESIHINRD 3 B

B {-I@Jrglj\@b S C. Nitric acid
C. Agfcdh 3 D

D. S3{d vicl

Sulphuric acid

Distilled water




9. [P Ad &-
A. TP Od
B. fgdius Id
C. Jaided Id
D. Iqd® I

The dry cell is-

A.

B
C.
D

primary cell
secondary cell
tertiary cell

quaternary cell

By Shubham Sir




@ By Shubham Sir

10. 1 © | DI IS dT BT U § - Which of the following is a unit of
A, 3Id conductivity?
B. URIS A. Ohm
C. JIgHA B. Farad
D. %:Iﬁ C. Simon
D. Henry




By Shubham Sir

11. UfeRIeN & HidR PH | T{l@i 'eﬁe[ R faug When the resistors are connected in

?IT?Tﬁ'Q"'Q?[ széﬁ?ﬂ%— parallel order, the potential star current is
A. UM T4 fH=-14 respectively :
B. &= =1 ud qHM A. Same and different
C. oI gHH B. Different Different and same
D. &l fH=-f8= C. Both same
D. Both different




@ By Shubham Sir

12. @E@? ﬁ'g’ HT;KF[ s | PhedITIT oid The Wheatstone bridge will be said to be in

Ted-Ie” § yared YrRT gt - balance when the current flowing through
A SH the galvanometer is -

B. A A. unit

C. 3Hd B. zero

D. 0.8A C. infinity

D. 0.8A




@ By Shubham Sir

13. IRdfd® 9 J qz?ﬁ HI yTiRaT gidi § - Actually, the capacity of the earth is:

A TBIS A. unit
B. A B. zero
C. 711pf C. 711pf

D. 3[d D. infinity




@ By Shubham Sir

14. TUIRT BT HIAT 6 - The condenser works by:

A. AC hdd IR A. AC Only On

B. odd DC W B. Only on DC

C. ACUdDCEHIWR C. On both AC and DC

D. T8I ACIRAYTATEI DC R D. Neither on AC nor on DC




By Shubham Sir

1578 & W Rie ot wa il%'le[ @I FT  What is the use of coating iron with zinc?

ﬁﬁ %? A. Galvanization
A. TSI B. Electroplating
B sadg‘:ltalréil C. lonization

C. A4 D. None of these
D. $H I PIg gl




By Shubham Sir

16. aﬂjﬂﬁ 3qee &1 fobar 1 et Eﬁm "In the process of electrolysis, the amount
U Hod E'EHET?IH% HTEITWW%H 3TdR  of matter released on an electrode is

%Wﬁm%l q’s’ﬁ'ﬂ'ﬂ%— directly proportional to the total flowing
A. TS @l faggd sioded deelt uyw fAaH charge. "These are the rules -
B. TS &1 fdggd 3fggce qad fgaia o A. Faradon's First Law of Electrolysis
C. e &1 fagyd siue T qata fHad B. Faraday's Second Law of Electrolysis
D. §H I Pig 478! C. Faraday's Third Law of Electrolysis
D. None of these




By Shubham Sir

17. "gfe fHdt I1a® Bt Hifdd @RI S - "If there is no change in the physical state
arg anfe | ﬁ'&g IR A A Ia@d F A of a conductor such as temperature, etc.,
TR T 7T fAyaiar S9H gUTfadd 4RT & the potential difference applied across the

WW%I gg fAau 8- ends of the conductor is directly
A. qmll-l &1 g9 proportional to the current affected. "This
B. 3 &1 fgH is the rule—

C. e &l aH A. Coulomb's Law

D. fhai® &1 (AaH Ohm's Law

B
C. Faraday's Law
D. Kirchhoff's Law




18. HRTS &1 fraw Gwafia & -
A. fdaggd suucH 9

B. I PbaEd

C. fagqgd fd=sedd

D. faggauaR ¥

Faraday's law is related to:

A.

B
C.
D

By electrolysis
Pressure of gases
By electrocution

Power diffusion

By Shubham Sir




By Shubham Sir

19. Uh GI'I'Q"Qf 3R &1 ufaiy Eﬁ?ﬂ % - The resistance of an ideal ammeter is:
A. I A. Nil

B. $oll B. energy

C. dieedl C. Bolta

D. ﬁ’c{ﬂﬁ YR D. electric current




20. FaTRA @t gtiar b aral w MR
P B ?

A. I9D Iagl & ATh I W

B. HHUIRA & GIHI Wilci & &g Bl g3l R

C. &I wiiel o o JTed WR

D. SWRIad I

By Shubham Sir

On what factors does the capacitance of

the condenser depend?

A.

B
C.
D

On the area of its surfaces
Distance between two plots of condenser
On the medium between the two plots

All of the above




By Shubham Sir

21. fosdt q¥q PI Wﬁ@'{ﬁ fRRIG UM EIAT  The dielectric constant of an object is

always :

A, 1IdHA
KEIRED

1P SRR
RIQS

O N W

A.

B
C.
D

Less than 1
More than 1
Equal to 1
Nil




By Shubham Sir

22. 1 9IS 3P 23' ?Iﬁl? fPgd REYEIATE  What is 1 Board of Trade unit equal to?

? A. 3.6x10°)
A. 3.6x10°) B. 36x10~J
B. 36x10°) C. 0.36x10°J
C. 0.36x10°J D. 36x10%
D. 36x10%)




By Shubham Sir

23. 1 O & @9 fdggd YRT & TEPHIT  Which of the following are instruments

THTT TR ATYTRT SUDIT & - based on magnetic effect of electric
A TR current?
B. ﬁagazrcré’r A. Galvanometer
C. TR B. electric bell
D. SWRIad I C. motor
D. All of the above




24. Th WS dR BT ST ...........

giaT 8|

A. BT Ugd fe1 I=a faggd URT &1 gHifdd
PRA[

B. 3IYh URI UdIg o YHY faggd uiRuy ol
dre

C. fodl Hidd &I faggd Fchi d oM

D. S0 9 ®Is ol

By Shubham Sir

A fuse wire is used for..........

A. Affecting high current without causing
harm

B. Breaking the electric circuit during
excessive current flow

C. To protect a person from electric shocks

D. None of these




25. faggd we o swaura f&ar &= aren

uerd 9 3R i &1 ve fyurg dar &

59 fArgerg o -

A. I faflRrss wfaRiy Td A TeHid g
ElINY

B. At fafRree ufdiued I=d Taie gIH1 e

c. = fafdre gfeRly wd A= TTIeHi®
ElINY

D. 3= fafdre ufdRlYy Td I=d TeHid gl
eIy

By Shubham Sir

The material used in an electric fuse is an
alloy of tin and lead. In this alloy -

A. Should have high specific resistance and
low melting point

B. Should have low specific resistance and
high melting point

C. Should have low specific resistance and
low melting point

D. Should have high specific resistance and
high melting point




By Shubham Sir

26. Mﬁwwﬁﬁ UYdd gI&T WSl  The safety fuse wire used in household

diR 39 YT | g1 giel % foraeT - electrical appliances is made of metal which
A UfRIY HH T -
B. T HHT! A. Low resistance
c. fafre @ Ha Bl B. Low melting point
D. dIcidhd HH B C. Low specific density
D. Low conductivity




27. foorell 9wg & 99 O W TH gRET
SUPHIUT & U H NI g3 gl ¢ | foaorelt &
WS & GaU § DIF-I1 YT Tal 82

A. g8 U9 Rag & 91y guEiar | Iaifod gidr
gl

B. I8 qud: Riear fHgergan I a1 g g |

C. SYPTIa-Ip A= g5l

D. 39&T Uy ifd ST gl g |

By Shubham Sir

The fuse is fitted as a safety device in the
mains of the power supply. Which

statement is correct regarding electric fuse?

A. It is connected in parallel with the mains
switch.
It is mainly made up of silver alloys.

C. Its melting point is low.

Its resistance is very high.




By Shubham Sir

28. TP ﬁ@'ﬂﬂ gfbe ° @ ol dIR PT A fuse wire is used in an electrical circuit

mﬂmm%- A. To reduce the expenditure of electrical
A, TARU T faggd ol & T Dl HH PR B energy in transmission

fog B. To keep the voltage level constant
B. dlecol & TR &I FRR @ & foru C. To prevent excess current flowing in the
C. Tftre # yarled 8 aral 3ifde faggd U circuit

Pl AP & D. To prevent the electrical wire from

D. Irc\ilcggcl dR ! 31H TH g4 I g & forg overheating




By Shubham Sir

29. TS dI¥ (Fuse wire) foa ﬁf%['iﬂ'g' ®I§41  Fuse wire is made of which alloy?

gl 82 A. Alloy of tin and copper

A e iR aid &t EEVIGI B. Alloy of tin and lead

B. fa= aﬁ?@mﬁﬁr%m C. Alloy of tin and aluminium
C. foT 3R vegHifow &f frgrarg D. Alloy of nickel and chromium
D. F®d 3R Hiftrgw & g




@ By Shubham Sir

30. fP3arp &1 yyy fAag A Iy & Kirchhoff's first law is based on the

TRE&UT IR TYTIRE &2 conservation of a zodiac sign.
A. AT A. emotion

B. $oll B. energy

C. dieedl C. Voltage

D. faggd 4rT D. electric current




By Shubham Sir
31. Ty Pl diccHlcR HAGId FH P To convert a galvanometer into a

ﬁ"—\’ Gﬁga % - voltmeter, we add to:

A. 9t H 9= gfcriy A. Low resistance in series

B. IHMIR | = gfcRIY B. Low resistance in parallel
C. 9ult ¥ I=a UfeRiYy C. High resistance in series
D. MR ¥ I=d UieRIY D. High resistance in parallel




32. 9g! HaY qard

A, YTRAT =3mazy/fayg

B. TR@T =3MmdxxfdHg
c. faya =sawr xunfedn
D. 3{Ta=I= YTal/fava

By Shubham Sir

Tell me the correct relationship

A.

B
C.
D

Capacitance = Charge/Potential
Capacitance = Charge x Potential
Potential = Charge x Capacitance

Charge = Capacitance/Potential




By Shubham Sir

33, YTIGT T A g - Capacitance is a zodiac sign -
A. gfex A. Vector

B. 3ifgw B

C. gl gl Sl Yobdl C. can not be said
D D

. Sl ST g 3=y 3ife

Scalar

sometimes vector otherwise scalar




@ By Shubham Sir

34. fod e ® I & afauE Eﬁe[ P S The rate of movement of charge in a

B o ﬁ?[ %'I conductor is called ...........
A. dlees A. voltage

B. 3fIax B. charge

C. ﬁ’c{ﬂﬁ YR C. electric current

D. faug D. potential




@ By Shubham Sir

35. 9¢ 9d, Sl ﬁﬂ:ﬂﬁ B TATAT 8, cooneeee. The force which moves electricity is
WTHT% I called..........

A. ﬁ?ﬂﬁ YR A. electric current

B. WieRIY B. resistance

C. Irc\ilcggcl dig® ddi C. electromotive force

D. 3o D. charge




By Shubham Sir

36. Udh fooTett & ol diR (fuse wire) A An electric fuse wire must have which of

HHAT™ GIﬂ'EI'q:]Tﬁ & fou frAffea A G @9 the following sets of properties for normal
9 Ul JHg dI ST STIAP © - applications -
A. 9 oIS 3= ufaRiY A. Low melting point high resistance

3 i 3= UicRIY High melting point high resistance

B B
C. T3 eI = ufaRiy C. Low melting point low resistance
D. 3<d Wi = UfcRly D

High flashing point low resistance




@ By Shubham Sir

39. fauTell & a¢ 9 &1 fhar—=< f5a da A What is the material of the electric bulb

ol E:]?IT % ? made of?

A. PR A. copper

B. 3IURA B. iron

C. de C. lead metal
D. CilcHd D. Tungsten




By Shubham Sir

38. ¥od DI dISH UR df 3T gldl @, FIfH  There is a loud sound when the bulb

— breaks, because -

A. w%&mﬁafaﬁargﬁsﬁﬁmm—cﬁ A. Air enters the vacuum inside the bulb

gl rapidly.
B. Scd & 3 f[aWhled 19 gidl @ B. There is an explosive gas inside the bulb.
C. dcd Pl fthardc aryg I fhar a1 5| C. The filament of the bulb reacts with air.

D. Scd Bl 3 I Y S YR giail g | D. The gas inside the bulb suddenly expands.




By Shubham Sir

39. fooTell & oo9 ¥ 84T @ kg ¥ ® Why is air removed completely from the

oo g ?
A. TIRCH dq & ST ol b+ & ey A.
B.

C.

e & e SH Bl b & fay

3[ARNYUT & HRUI YRR B 8l Bl b+ 9

B.
fera C.

IUYad H BIs ol

electric bulb?

To prevent oxidation of tungsten
filaments

To prevent bulb bursting

To prevent loss of light due to absorption

None of the above




40. fIoIell & 969 & opEd WRIN< &Jd
3P T I ATl 8, Fifob-

A.
B.
C.

IGP! AT S aTeH Tdg dal gt g |
diced] @ Ue-d¢ BT 39 TR 3TN sl Usdl
&[d H faggd ol THT T R I UBhIR
Soit 7 uRafd g st g

IGd! AT 3@l F AU gFBRD gl
glal |

By Shubham Sir

40. Fluorescent tube is preferred over

electric bulb, because-

A.
B.
C.

Its illuminating surfaces are large.

Voltage fluctuations do not affect it

The electrical energy in the tube is almost
completely converted into light energy.

His light is not harmful to the eyes.




41. TSP & dR BIfeT TAHE (Heating
eIement)%WﬁW%&ﬂ[ﬁ%‘,m—

A.

B
C.
D

. IUH (B) 3R (C) GHI & HRUT

g dR Wi ST Jbd B
9o fafRre ufeRly S= 5 |
AT T B R RIS S el ST g |

By Shubham Sir

Nichrome wires are used as a heating

element because:

A. Its wires can be drawn.

B. Its specific resistance is high.

C. It does not form oxide when heated to red
hot.

D. Because of both (B) and (C) above




@ By Shubham Sir

42. ft 9 ufvuy ¥ Fiew 3R ﬁ@'ﬂﬂ YIRT In a closed circuit, the ratio of voltage and

DT UM ......... Tedl %I current remains ...........
A. dqcdl A. Varying

B. HHIA B. Equal

C. dedI C. Increasing

D. dYcdl D. Decreasing




@ By Shubham Sir

43. W, st ﬁﬂ:ﬂﬁ YRT AYAT B, oo The meter which measures electric current
WFITHT%'I is called .........

A. dlecHlcy A. Voltmeter

B. BIZSHIR B. Hydrometer

C. 3MHHR C. Ohm Meter

D. 3HIc D. Ammeter




By Shubham Sir

44. Hiex, S dieesl AT B........... dedldl  Meters, which measure voltage,.......... It is
%'I called.

A. THIHIR A. Tachometer

B. Eﬁﬂ?rﬂ—ﬂ B. Ampere Meter

C. diecHIcy C. Voltmeter

D. 3fHHIR D. Ohammeter




By Shubham Sir

45. 'FﬂE?, a’ruﬁlﬁam% ......... hodldl The meter which measures resistance is
%'I called .........

A. AR A. Ammeter

B. CHhIHICR B. Tachometer

C. diecHIcy C. Voltmeter

D. 3{IgH HIeR D. Ohm meter




The unit of resistance is
A.

B
C.
D

Ohm
Volt
Ampere

Millivolt

By Shubham Sir




By Shubham Sir

473@@?@3@'&@@? ......... # ard Voltage in long transmission lines is
\_rIT?ﬁ%'I measured in ...........

A dlee A. Volt

B. HIShI dlee B. Micro volt

C. fddldiee C. Kilo volt

D. foreft alee D. Milli volt




By Shubham Sir

48. Wﬁmaﬁﬁuﬁﬁa .............. I As the length of the conductor increases,
A. gcdigl the resistance..............
B. dedl %"I A. decreases.
C. HHIH RgdI gl B. Increases.
D ‘{BIEP[GHEIT%I C. Remains the same.
D. Becomes zero.




@ By Shubham Sir

49. 918D P STJUR] PTC P PEL] aaﬁ ¥  Resistance ............ due to increase in area
afaRiy ........... I of cross-sectional section of the conductor.
A. dedl %"I A. Grows.

B. RRIEaT B. Remains stable

C. Ycdl % C. Decreases

D. ¥ REIGIE D. It becomes zero




iR wear gl

A. TP DI gTGC (TaT)

B. TP I alg

C. TP DI UR] HIC P AAHA
D. dd® BT Uiy

By Shubham Sir

The specific resistance of the conductor
............... Depends on.

A. Structure of the conductor (substance)

B. Driver's Length

C. Area of uncrossed section of the driver

D

Resistance of the driver
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